AR
g B
i) w
= d

\FASE/
200000 10 300
O 0O O Ododoododoodoooodn
O 0O O Ododo oo gog

gobood gboobooboobooobooooog
googoo goog boooobooboooo

210300 Dodggooodggoon

U200 11030000 2203b00gonobogonobooo™oobooooboooaon

gooogd
21 3
20 4 1 21 3 31

20 11 13 38,000 3,500 2,500
38,000 2,200 1,000
- A 1,300 A 1,500
- A 37.1% A 60.0%

gobooood

(0) DhoobobooboobOobOoOobOobbOoboOobOobobze080 S OOOODOOODOO
gdbobbooooobbooobobooobobbooobbbooobobbooooboboooo 200
nogBooobobooobooobobooobooboboooo

(O) DoobDobobOoboOobooOoboOoboobOobDOobDOobOobOOobOoOoboobooboobooDOoDOoDo
goboooooobobogobboooboobooobb 1,500 ogoobog1,000 boooD
gooo
ggboooooooboogobobooobboooboboooobobooobbooobobbooaon
goooo

(0) DbobooobOoobobDoobUoboboboobobbooboobo

00000D000000000000000000000000000000000000000000000000000000000000000000000000000000O0CO00
00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000D000000000000000000000000O00000O00O00O0O000000
0000000000000000 Fem20-F O0000000000D0000000000D00D00000D0000O00DO0000000000000000D0000000O0000D00O0

0000000000000000000000000000000000000000000000000C000000000000000000000000000C0000000000




